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Les	
  Probabilités	
  au	
  Bridge	
  

1.Les	
  répartitions	
  à	
  connaître	
  :	
  
Probabilités	
  des	
  principaux	
  partages	
  :	
  

2	
  Cartes	
  dehors	
  

Partage	
  1/1	
   	
   52%	
  

Partage	
  2/0	
   	
   48%	
  

3	
  Cartes	
  dehors	
  

Partage	
  2/1	
   	
   78%	
  

Partage	
  3/0	
   	
   22%	
  

4	
  Cartes	
  dehors	
  

Partage	
  2/2	
   	
   40%	
  

Partage	
  3/1	
   	
   50%	
  

Partage	
  4/0	
   	
   10%	
  

5	
  Cartes	
  dehors	
  

Partage	
  3/2	
   	
   68%	
  

Partage	
  4/1	
   	
   27%	
  

Partage	
  5/0	
   	
   5%	
  

6	
  Cartes	
  dehors	
  

Partage	
  3/3	
   	
   36%	
  

Partage	
  4/2	
   	
   48%	
  

Partage	
  5/1	
   	
   14%	
  

Partage	
  6/0	
   	
   2%	
  

Principe	
  à	
  retenir	
  	
  :	
  

Lorsqu'il	
  manque	
  un	
  nombre	
  pair	
  de	
  cartes,	
  les	
  répartitions	
  régulières	
  sont	
  
moins	
  probables	
  que	
  les	
  répartitions	
  irrégulières	
  

Lorsqu'il	
  manque	
  un	
  nombre	
  impair	
  de	
  cartes,	
  les	
  répartitions	
  régulières	
  
sont	
  plus	
  probables	
  que	
  les	
  répartitions	
  irrégulières.	
  

	
  

	
  



♣♦♥♠ 	
   	
   Bridge-­‐ENS	
  
	
  

JLN  page	
  2/5	
  

2.Exemple	
  de	
  calcul	
  d'une	
  ligne	
  de	
  jeu	
  :	
  
Supposons	
  que	
  pour	
  gagner	
  un	
  contrat,	
  vous	
  avez	
  le	
  choix	
  entre	
  deux	
  lignes	
  de	
  

jeu	
  incompatibles.	
  L'une	
  nécessite	
  le	
  succès	
  d'une	
  impasse,	
  l'autre	
  un	
  partage	
  3/2.	
  
Laquelle	
  doit	
  on	
  sélectionner.	
  

Connaissant	
  les	
  répartitions	
  des	
  résidus	
  d'une	
  couleur	
  (Cf	
  chapitre	
  précédent),	
  
vous	
  ne	
  pouvez	
  pas	
  hésiter	
  :	
  50%	
  pour	
  l'impasse,	
  68%	
  pour	
  le	
  résidu	
  3/2,	
  il	
  faut	
  choisir	
  
la	
  deuxième.	
  

On	
  peut	
  multiplier	
  les	
  exemples	
  :	
  

-­‐ une	
  impasse	
  vaut	
  mieux	
  qu'un	
  partage	
  3/3	
  (50%	
  contre	
  36%),	
  
-­‐ une	
  impasse	
  sur	
  deux	
  vaut	
  mieux	
  qu'un	
  partage	
  3/2	
  (75%	
  contre	
  

68%),	
  
-­‐ un	
  partage	
  3/3	
  vaut	
  mieux	
  que	
  deux	
  impasses	
  (36%	
  contre	
  25%).	
  

Comment	
  calculer	
  maintenant	
  la	
  probabilité	
  de	
  succès	
  d'une	
  ligne	
  de	
  jeu	
  qui	
  
nécessite	
  deux	
  éventualités	
  favorables	
  ?	
  Il	
  suffit	
  de	
  multiplier	
  leurs	
  probabilités.	
  

-­‐ un	
  partage	
  3/3	
  et	
  une	
  impasse	
  :	
  36%	
  *	
  50%	
  =	
  18%	
  
-­‐ un	
  partage	
  3/2	
  et	
  un	
  partage	
  3/3	
  :	
  68%	
  *	
  36%	
  =	
  24,5%	
  

Les	
  choses	
  se	
  compliquent	
  un	
  peu	
  lorsque	
  vous	
  êtes	
  tributaire	
  d'une	
  situation	
  
favorable	
  ou	
  d'une	
  autre.	
  Prenons	
  un	
  exemple,	
  portant	
  sur	
  deux	
  couleurs	
  :	
  

Comment	
  réaliser	
  5	
  levées?	
  

Il	
  y	
  a	
  4	
  levées	
  certaines,	
  3♠ 	
  

et	
  un	
  ♥ .	
  

Quelles	
  sont	
  vos	
  chances	
  ?	
  

Vous	
  pouvez	
  tirer	
  d'abord	
  les	
  

Piques,	
  vous	
  avez	
  68%	
  de	
  chance	
  

Ce	
  sont	
  vos	
  chances	
  initiales.	
  

Il	
  y	
  a	
  32%	
  pour	
  les	
  autres	
  répartitions,	
  

ce	
  sont	
  vos	
  chances	
  restantes.	
  

Si	
  les	
  piques	
  ne	
  sont	
  pas	
  3/2,	
  

vous	
  tentez	
  l'impasse	
  à	
  ♥ .	
  

Le	
  pourcentage	
  de	
  réussite	
  est	
  

de	
  50%	
  de	
  vos	
  chances	
  restantes	
  

soit	
  16%.	
  

Donc	
  vous	
  avez	
  68%	
  +	
  16%	
  =	
  84%	
  

    N 

O     E 

     S 

♠ 	
  ARD3	
  

♥ 	
  AD	
  

♦ 	
  	
  

♣ 	
   

♠ 	
  8654	
  

♥ 	
  64	
  

♦ 	
  	
  

♣ 	
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L'ordre	
  des	
  manœuvres	
  n'a	
  aucune	
  importance	
  du	
  point	
  de	
  vue	
  des	
  
probabilités	
  de	
  succès.	
  Evidemment,	
  si	
  dans	
  l'exemple	
  présenté	
  vous	
  ne	
  devez	
  pas	
  
perdre	
  la	
  main,	
  il	
  faut	
  commencer	
  par	
  tirer	
  les	
  piques.	
  

	
  

3.Exercices	
  d'application	
  :	
  
	
  

3SA	
  joué	
  par	
  SUD	
  :	
  entame	
  7	
  ♠	
  	
  

Le	
  valet	
  du	
  mort	
  pour	
  le	
  Roi	
  d'EST.	
  

Comment	
  gagner	
  ce	
  contrat	
  au	
  meilleur	
  

des	
  probabilités?	
  

Compte	
  des	
  levées	
  :	
  1♠,	
  1♥,	
  2♦	
  et	
  2♣	
  

Il	
  manque	
  3	
  levées	
  que	
  l'on	
  peut	
  réaliser	
  

soit	
  à	
  ♥	
  ,	
  soit	
  à	
  ♦.	
  Dans	
  le	
  premier	
  cas	
  on	
  

fait	
  l'impasse	
  à	
  Cœur	
  sur	
  OUEST,	
  dans	
  le	
  

deuxième	
  cas	
  on	
  recherche	
  une	
  dame	
  2nde	
  

ou	
  sèche	
  soit	
  :	
  

Dame	
  seconde	
  :	
  4	
  cas	
  sur	
  10	
  du	
  3/2	
  

Dame	
  sèche	
  :	
  1	
  cas	
  sur	
  5	
  du	
  4/1	
  soit	
  2/5*68%	
  +	
  1/5*27%	
  

Impasse	
  à	
  cœur	
  50%	
  	
  du	
  restant	
  soit	
  ½	
  *	
  (100-­‐(27,2+5,4))	
  

Ligne	
  de	
  jeu	
  à	
  66,3%	
  en	
  tirant	
  AR	
  ♦,	
  puis	
  

impasse	
  à	
  ♥,	
  en	
  présentant	
  le	
  Valet,	
  en	
  espérant	
  un	
  roi	
  au	
  plus	
  4ème.	
  

	
  	
  Dans	
  cet	
  exemple,	
  on	
  ne	
  doit	
  pas	
  donner	
  la	
  main,	
  donc	
  on	
  joue	
  en	
  sécurité.	
  

	
  

	
  

4.Exercices	
  d'entraînement	
  :	
  
Pour	
  chaque	
  donne	
  ci-­‐dessous	
  donner	
  la	
  ligne	
  de	
  jeu	
  optimale	
  en	
  déterminant	
  les	
  

probabilités	
  de	
  gain.	
  

    N 

O     E 

     S 

♠ 	
  A2	
  

♥ 	
  V93	
  

♦ 	
  RV953	
  

♣ 	
  A62 

♠ 	
  V3	
  

♥ 	
  AD106	
  

♦ 	
  A76	
  

♣ 	
  R943 
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4	
  ♠	
  joué	
  par	
  SUD	
  :	
  entame	
  D	
  ♥	
  

Mise	
  sur	
  la	
  voie.	
  

Soit	
  trouver	
  les	
  ♣	
  	
  3-­‐3	
  ou	
  l'AS	
  de	
  ♦	
  

en	
  EST.	
  

Donnez	
  la	
  ligne	
  de	
  jeu,	
  cumulant	
  ces	
  deux	
  possibilités	
  

	
  et	
  la	
  probabilité	
  	
  de	
  réussite.	
  

	
  

	
  

	
  

	
  

	
  

	
  

Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  

2♦	
   	
   passe	
   	
   2♥ 	
   	
   passe	
  

2SA	
   	
   passe	
   	
   3SA	
   	
   Fin	
  

	
  

	
  

3SA	
  	
  par	
  SUD	
  :	
  entame	
  V	
  ♥	
  

Mise	
  sur	
  la	
  voie.	
  

Soit	
  trouver	
  les	
  ♣	
  	
  3-­‐3	
  ou	
  l'AS	
  de	
  ♦	
  

Second	
  (soit	
  en	
  OUEST	
  ou	
  en	
  EST).	
  

Donnez	
  la	
  ligne	
  de	
  jeu,	
  cumulant	
  ces	
  deux	
  possibilités	
  

	
  et	
  la	
  probabilité	
  	
  de	
  réussite.	
  

	
  

	
  

	
  

	
  

    N 

O     E 

     S 

♠ 	
  RV9	
  

♥ 	
  AR2	
  

♦ 	
  632	
  

♣ 	
  AR32 

♠ 	
  AD1087	
  

♥ 	
  65	
  

♦ 	
  R54	
  

♣ 	
  654 

    N 

O     E 

     S 

♠ 	
  752	
  

♥ 	
  62	
  

♦ 	
  D10963	
  

♣ 	
  753 

♠ 	
  AR8	
  

♥ 	
  ARD	
  

♦ 	
  RV4	
  

♣ 	
  AV42 
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5.	
  Les	
  différents	
  pourcentages	
  (distribution	
  et	
  points	
  H)	
  :	
  

	
  

ACBL	
  :	
  American	
  Contract	
  Bridge	
  League	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  http	
  ://www.acbl.org	
  


